§5-9 Reciprocal Trig Functions
Are the following statements TRUE or FALSE? If FALSE, change the statement to make it true. Do NOT make ‘cheap’ corrections!! (♫cheep, cheep!♪) Your corrections should show depth of knowledge about the concept.

1. 
Reciprocal trig functions are the original trig functions reflected over the  line.

2. In right triangle trigonometry, secant is the ratio of the opposite leg to the hypotenuse.

3.  In right triangle trigonometry, cosecant is the ratio of the adjacent leg to the opposite leg.

4. In right triangle trigonometry, cotangent is the ratio of the opposite leg to the adjacent leg.



5.  To find the secant of , determine what the sine of  is and take the reciprocal.


6.  The graph of the cosecant function has asymptotes where the graph of the sine function has zeros, odd integer multiples of .

7.  The graphs of the tangent function and the cotangent function never intersect. 

8.  The ranges of the cosecant and cotangent functions are the same.

9.  The periods of the reciprocal trig functions are the same as the periods of the respective original trig functions.

10. The graphs of cosecant and sine intersect wherever the output of the functions equal ½.

11.  As the value of the sine function gets closer and closer to zero, the value of the cosecant function for the same x-value also approaches zero.

12.  Along with its original trig function cosine, secant is an odd function.



13.  To determine the value of cotangent of , use the unit circle to visualize the tangent of 

14.  Both cosine and secant have restrictions of their domains.

15.  The secant and cosecant functions have the same domain.

16.  The tangent and cotangent functions have asymptotes at the same x-values.



17.  The reciprocal of  is .

18.  Cosecant is the inverse of sine.

19.  For the secant function, the domain of cosine needs to be restricted so that secant can pass the vertical line test.

20.  Reciprocal trig functions and inverse trig functions are synonyms.  


[image: ][simplify]


[bookmark: _GoBack]



















1a)   1b)   1c)   2)   3)   4)   5)   6)   7)   8) undef  9) -2  10) -1  11) -2  12)      13)   14) 15)   16)   17) 

oleObject3.bin

image3.wmf
2

p


oleObject4.bin

image4.wmf
p


oleObject5.bin

image5.wmf
1

p


oleObject6.bin

image6.wmf
0


oleObject7.bin

oleObject8.bin

image7.emf

image8.wmf
b

a


oleObject9.bin

image9.wmf
c

a


oleObject10.bin

image10.wmf
c

b


oleObject11.bin

image11.wmf
5

3


oleObject12.bin

image12.wmf
5

3

-


oleObject13.bin

image13.wmf
5

3


oleObject14.bin

image14.wmf
5

4


oleObject15.bin

image15.wmf
3

4


oleObject16.bin

image16.wmf
5

4

-


oleObject17.bin

image17.wmf
3

3


oleObject18.bin

image18.wmf
2

-


oleObject19.bin

image19.wmf
cos

x


oleObject20.bin

image20.wmf
csc

x


oleObject21.bin

image21.wmf
cot

x


oleObject22.bin

image22.wmf
csc

x


oleObject23.bin

image80.wmf
b

a


oleObject24.bin

image90.wmf
c

a


oleObject25.bin

image100.wmf
c

b


oleObject26.bin

image110.wmf
5

3


oleObject27.bin

image120.wmf
5

3

-


image1.wmf
yx

=


oleObject28.bin

image130.wmf
5

3


oleObject29.bin

image140.wmf
5

4


oleObject30.bin

image150.wmf
3

4


oleObject31.bin

image160.wmf
5

4

-


oleObject32.bin

image170.wmf
3

3


oleObject1.bin

oleObject33.bin

image180.wmf
2

-


oleObject34.bin

image190.wmf
cos

x


oleObject35.bin

image200.wmf
csc

x


oleObject36.bin

image210.wmf
cot

x


oleObject37.bin

image220.wmf
csc

x


image2.wmf
6

p


oleObject38.bin

oleObject2.bin

